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1.1

1.1.1

1.1.2

1. 40
2. 1.9x 10*m’/d
3. 3.2x 10*'m’/d
4. K =12 Kz=1.4
BODs=170mg/L COD ,=350mg/L.  SS=220mg/L
TN=40mg/L NH3-N=30mg/L TP=3.0mg/L
PH=6.5~7.5
10 25
70%
GB18918-2002 B
BODs<20mg/L CODcr<60mg/L SS<20mg/L
TN=20mg/L NH;-N=8mg/L TP<1mg/L
30%
BODs<10mg/L CODcr<50mg/L SS<10mg/L
NH3-N=10mg/L TP<1mg/L <1 /

427 -21.5



2. 3.5m/s 32m/s
15% 7%
16% 8%
3. 617.8mm
337.2mm 190mm
4. 30d 45cm
64.2m
7.66m/s
1. 1.8kg/cm2 8
2.
67.1m 1600mm 0.75m
1.1.3
1.
2.
300
3.
8
1 1

6%
6%
1168.4mm

2.4m

72 .4m



4
4~5
5 1
1.2
1.2.1
40
1.9x 10*m’/d
3.2x 10'm’/d
K =1.2 Kz=1.4
1.2.2
(1)
Qpi=a ‘N-qi
Qp: m’ /d
N——
qQ— L/cap-d ql=140L /cap-d
o — o =0.875
Qpi=a ‘N-q;=0.875%40%10"%140%107=4.9%10*m*/d

(2)
Qp:=1.9%10"m’/d.
A3)
Qps=3.2%10*'m%/d.
“4)

Q = Qpi+ Qpat Qps=4.9%10*+1.9%10*+3.2x10*'m*/d= 10x10*'m’/d
(5)

K =1.2

Kz=1.4



1-1
m’/d m/h L/s
100000 4166.7 1157.4
120000 5000 1388.9
140000 5833.3 1620.4
1.3
:N—
C—— BODs SS mg/L
Q— m’/d
as BODs SS g/p-d
SS as=35—50g/p-d
BODs as=20—35g/ d
1.3.1 SS
as=40mg/ -d, C=220mg/l
4
N :M =55.0x10*
40
1.3.2 BOD
as=30mg/ -d, C=170mg/l
170x10x10*
Ngoo =y - 56.7x10*
1.4
1.4.1
CODcr=350mg/LL  BODs=170mg/L SS=220mg/L
TN=40mg/L NH;-N=30mg/L TP=3.0mg/L

PH=6.5~7.5



1.4.2
GB18918-2002
B
1—2
Ezﬂ x100%
0
CO——
Ce
1-2
1 CoD 60 350 82.9%
2 BOD 20 170 88.2%
3 SS 20 220 90.9%
4 TN 20 40 50.0%
5 TP 1 3 66.7%
6 NH;-N 8 30 73.3%
7 PH 7-8 6.5~7.5
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2.1

2.2

a. A’/0
b.

2.2.1 A/0

A’/0



€9
@)
sVl
€))
4)
®)
6) N

@ °
P/BOD

2 N
©))

2—1 A*/0

100
2.5%

DO

DO

2Q

DO



A’/0 .
% % D
v
2—2 A’/0
a. A/0
DO 60%—100%
10%
N A’/0 P P
0.18kgBOD:/kgMLSS- d
P 0.10kgBODs/kgMLSS- d
b.
A*/0 BOD
N P
A°/0 A’/0
N P

2.2.2



N=2.0—4.0 kgBODs/m’- d
HRT=10—30h
MLSS X=2000—6000mg/1
SS  s.=10—20 mg/I
V=0.3—0.5m/s
H=2.5—4_5m

2—3
1950
15—16h 15—30
N
b.

N=0.05—0.15kgBODs/kgMLSS- d
SRT=10—30d
BODs 10—15mg/1
NH;-N  Ne=1—3mg/|
T=15—30min
B H=2 1



€Y

)

©)

(4)

®)

2.2.3

A*/0

2-1

BODs SS

carrousel2000

A*/0

Carrousel2000

20 30

20 30

carrousel2000

-13-
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2.3

- - . carrousel 2000 .+

V B
2—4
2.4
2.4.1
1
20mm 6mm
2

40%



€Y

)

®3)

(4)

15%

-15-



€Y
)
®3)

€Y
&)

€Y
&)

€Y
&)

- 16 -



€y
)

€y
)
©))
(4)

€Y
)

Carrousel2000 Caarrousel
Caarrousel
N P Carrousel



PH

2.4.2

2.4.3

- 18-



b.V

-19-



3.1

3.1.1

€Y
&)
©)

€Y
&)
©)
4)
®)
(©)

3.1.2

1.2x 1.6m

1.2m
Im
Lx B=1.6x 1.6m

3
0.9—1.1m/s
n=0.014
D=1600mm v=1.00 m/s
Qu=1.6204m°/s
h/D=0.75
67.1m
67.1 +1.6=68.7m
72.4-68.3=4.1m
1800mm
67.1m
69.7m ZMQF

=2992kg

-20 -

1=0.5%

h=1600% 0.75=1200mm
67.1+1.2=68.3m

3x 6m
68.3m

5.3m

1.6m



11 XLQ-5
3-1 XLQ-5
m/min
t m
XLQ-5 1 4
5 0.05 0.18
3.2
3-1
\
N [T T ]
e
b T - - L AV ~
— . —
e -
=)
i 7 ot R m o & N
a
HL/ t ana L
L| 500 | | 1000 2
3-1

&N 10—40mm 3—10mm
@3
€)) 0.4—0.9m/s
@) 450—800

-21-



®)
(6)

Q)

®
€)

3.2.1

€y
)
©)
(4)
®)

D

2)

0.08—0.17m/s
0.7m
1) 1.2m
2) 1.5m
h=1.2m
v=0.45m/s
b =20mm
s=10mm
a =750
o Quusina
b hvm
n —
b 1.6204m*/s
b — 20mm 0.02m
h—— 1.2m
V— 0.45m/s
O — 750
M

o 1.6204xsin75°

= =737
0.02x1.2x0.45%x2

_22-

74

0.5m

-
==

j=

FE



3)

v.:=0.84m/s

4)

5)

6)

7)

8)

B=s(n. 1) bn
B— m
S—— 0.01m
B=0.01x (74 1) 0.02x 74=2.21m 2.30m
L.
B;=1.60m a, =20
= B-B, :2'30_1'60:0.96m
2tan20° 2xtan20°
L.
Lzzi = % =0.48m
2 2
HE:
h =k-g-|— —-sina
b 29
h — m
p— 2.42
k—— k=3

¥ )
h =3x2.42x(0'01j OAT | in75°=0.115m
0.02 29

h,=4.3m
Hi=h+h,=1.2 4.3=5_.5m

H=h+h,+h =1.2+4.3+0.115=5.615m

L=L,+0.5+1.0+ H, + L,

tan
[——
L.
L,
5.5
[=0.96+0.5+1.0+ +0.48=4.09m ,

o

tan75

-23-

7.00m



9)

Q... - W, -86400
k %1000

W— m'/d

Wo m'/10°m° 0.1—0.01 m*/10°m°

0.07 m*/10°m’

3.2.2

€y
)
©)
(4)
®)

D

W _1.6204x0.07 x 86400
1.4 %1000

=7.0m/d 0.2m*/d

h=1.2m
v=0.70m/s
b =6mm
S=5mm
a =750
o Quusina
b hvm
n —
b 1.6204m*/s
B — 6mm 0.006m
h—— 1.2m
V— 0.70m/s
O — 750
m— 2
_ L6204x+sin75" o 158

T 0.006x1.2x0.70x2

-4 -



2)

3)

v,=0.68m/s

4)

5)

6)

7

8)

B:S(n1 1) bn
B—— m
S—— 0.01m
B=0.005x (158 1) 0.006x 158=1.733m
L.
B,=0.8m o, =20
- B-B, :1'74_0'80=1.34m
2tan20° 2 xtan20°
L,
Lzzhzﬂzo.mm
2 2
Yoo
h :k.ﬁ.(fj Vo
b 29
h —— m
f—— 2.42
k—— k=3
Y4 2
h =3x2.42x(0'005j ><0'70 x sin75°=0.14m
0.006 29
h2:0.8m

Hi=h+h,=1.2 0.8=2.0m

H=h+h,+h =1.2+0.8+0.14=2.14m

L=L,+0.5+1.0+ H, + L,
tan o

L——
L.
L.

-25-

1.74m



L=1.34+0.5+1_0+ 2.0 +0.67=4.03m, 9.00m
tan75°
9)
Q. - W, - 86400
k %1000
W— m’/d
Wo m'/10°m° 0.1—0.01 m*/10°m°

0.11 m*/10°m’

w =1:6204x0.11x86400 1y 60074 o omisg

1.4x1000
3.2.3
3-2
_ kg
mm m/min kw mm
GH
2300 3 750 2.0 20 4500
HF-1500
1500 3 750 2.2 6 -—-
3.3
3.3.1
1.
Qmax=1620.4L/s
5 4 1
Q=Qmax/6=1620.4/4=405.1L/s=1458.3m°/h
2.

H=H +2.0+ 1.5—2.0

-26 -



2.0—
1.5—2.0—

Q=1458.3m°/h H=15m

m
H,

m
1.5m

5.0m
H =(72.40+5.0)-66.185=11.215m
H=H +2.0+1.5=11.215+2.0+1.5=14_.715m , 15m

11

3-3  350QW1500-15-90

H,

350QW1500-15-90

Q H
m’/h m n(r/min) kw % kg
350QW1500-15-90 1500 15 990 90 82.1 2000
3.3.2
1.
2.
3.
0.01
4.
5
1.5—2.0
6 2.0
V:4051x60x6::14584m3
1000
F
F=1498% o5 oo

-27-



3.3.3

3.3.4

QW 10000mmx 8200mmx 2000mm
10x 8.2x 2=164m’>>145.84m’
DN150mm
5
2000mm
1000mm
5200mm
3000mm
H,=68.185m
68.185-2.0=66.185m
1.20m
H,=72.40-66.185+1.20=7.415m

H.=n+a+c+d+e+h
n—-— 0.1 0.1m
a— 11 0.7m
c— 11 1.06m
d— 0.5m
e— 2.14m
h—— 0.2m

H=0.1+0.7+1.06+0.5+2.14+0.2=4.7m 6.4m

H=H.+H,=7.415+6.4=13.815m

-28 -



3.3.5
3.5m 3.0m
1/5
5 1000x 1500mm
25mm
3.3.6
2000kg GH 4500kg LD-A
3-4 LD-A
. . kg
t m/min m/min L(m) kN
m
LD-A 5 6 8 30 10 | 34.20 2650
3.3.7
9
3.3.8
350QW1500-15-90 350mm

1.5mx 1.5m
1.5m

-29-
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2 2
H=[ Q j3:[ 0.4301 T =0.276m
1.86b 1.86x1.5
3.4
3.4.1
a.
2.65 0.2mm
C.
D
(@)
3)
d.
3.4.2
a.
0.25m/s 0.15m/s
C. 0.3m
3.4.3
20
3-5 20
m’/d mm mm mm
7.50 4880 1680 2080
3.5
3.5.1

0.05 0.15kgBOD/(KgMLSS: d)

HRT=12 36h

-30 -



3.5.2
2000
a. SRT=25d
b. Q=10x 10'm*/d=4166.7 m’/h
C. 10
d. 25
3.5.3
1. , 3-2
132000
Y e N
o g 3000 2
2 i 8 A
D)
L . g fi;/ <
61500 ‘ 43500
105000
3-2 2000
1).

Q=10x10*m’/d=4166.7 m’/h

2).

BOD

SRT=25d

,Noe=TNo-0.05(S-Se)-TN.

mg/1
mg/1
mg/1

mg/1

231 -

40mg/1
20mg/1
170mg/1



Se-- BOD mg/1 20mg/1

Km=40_005X@70_m»_20=00W1

170
Ke=0.074

Yo _ % _ 99

Vo6,
Vo— m’
V— m’
0 «— d
0 — d HRT=25d

3).
_ . (T-15)
Y:Kojﬁﬂﬁﬁleozkanalo?jw(ms
1+0.176,-1.072")
K— 0.9
Xo— SS mg/1 220mg/ 1
_ (10-15)
YV 209%| 075406220 (1-0.2)x0.17x25x 1.072(10_15) %075 | _ ) 97kgSS/kgBOD
170 1+0.17x25%x1.072
R 170 ~0.047 kgBOD/(KgLSS: d)
0:Y(S,-S.) 25x0.97x(170-20)
4).

X=4.5gMLSS/L

SVI=120mL/g

tE=2h
XR
1000 1000
X =07 i =07 32 = 7.35ma/L
R =V SVI><VF;. “120 <2 g
X 4.5

=158%

T X.- X 735-45

-32-
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2. 2000
1).
_24Q0,Y(S, - S.) _ 24x4166.7x25x097x(170-20) 10y s o
1000 X 1000x 4.5
Vo a5
v o

c

V, =020V =0.20x80833.3=16166 m’

V, =(1-0.20V = 0.80x80833.3 = 64667 m’

V. _80833.3 0.81d™' =19.4h

Q 100000
2).
T.=0.9h
V, = QI +RJT, =4166.7x (1+1.58)x 0.9 = 9675m’
Rar o 7545 1 o045 10%
X (80833.3+9675)x 4.5
3. 2000
1).
M=4
H=4.5m
m=4
B=9m
2).
i _V _ 808333 o ens
M
F oY 20208 oty

""H 45

-33-
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3m
L =L+3=499+3=502m

L, =3xZx9+2x27=85m
2 2
L,=L -L, =502-85=417m

L, :%:104.5m 105m

L =—2
m

V
L =Yoo 43 020x499+1.5=101.5m
P v 2

L =Zx9=14m
2
L, =L, -L, =101.5-14=87.5m

L, 875

L =—2=22"—=43.5m
2 2
3).
V= Va J9T5 _ 4837 5m
2 2
B=12m H=4.5m
V, .
Ly,=—2= 4837:5 _ g9.6m 90m
BH 4.5x12
4.
1).
T=25 8 ~=25d BOD

0.=1.35kg0,/kgBOD

-34 -



BOD
§=f.Q(s,-s)107
f— 1.1
S =1.1x4166.7x (170 —20)x 10~ = 687.5kgBOD / h

N, =24-Q,-[TN, -0.05(S, - S,)-2]-10°
Q— m’/h 5000m*/h
N, =5000x[40-0.05x (170 —20)-2]x107 =152.5kgN / h

NOt - Qa [TNO _OOS(SO o Se)_TNe]'IO_3

N, =5000x[40—0.05x (170 —20)—20]x 107 = 62.5kgN /h
2).
AOR=1.35S, +4.57N,, —2.86N,,
AOR=1.35x687.5+4.57x152.5-2.86x 62.5 = 1446kgO, / h

72.400m , 25
k=1.59
SOR=k- AOR=1.59x 1446=2300kg0,/h
BOD AOR_ 1446 _ 2.10kgO, / kgBOD
S 6875
5,
o 24QY(S, —S,) _ 24x4166.7x0.97x(170-20) _ 14550kgSS/ kgBOD
1000 1000
X
Qur _ Xur 14550 1818.75m° /d = 75.8m’° /h
X q 5
6.
1). 2000

2300kg02/h 4 8

-35-



SOR_ 2300 _ 527 5190, /h
8 8
DS400
3-6 DS400
KW kg
kg0./h mm
DS400 292.87 4000 135 2640
2).
5 8W/m’
20208 x5 =101.04kW 14 DQT75
4837.5x5=24.19kW , 5 DQT55
3-7_DQT
KW KW KW
DQT75 14 7.5 105 101.04
DQT55 5 5.5 27.5 24.19
7.
1).
Q=14x 10°m’/d=5833.3m°/h=1620.4L/s
Qr = RQ=1.58x1620.4 =2560.232L/s
3-8
DN i
¢ v m/s
L/s mm %0
Q/2 810.2 1000 1.03 1.16
Q/4 405.1 700 1.05 1.92
(Q+Q:) /74 1045.2 1000 1.28 1.76
(Q+Qz)74 1045.2 1000 1.28 1.76
(Q+Q:)/2 | 2090.4 1500 1.137 0.825
Q/2 1280.1 1000 1.41 2.53

-36 -
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2).
3
Qi = mob\/ZQH 2
Me— 0.42
b— m 6m
H— m
i— m'/s 1.0452 m*/s
2 2 2
H=| 2 =( Q )3 =(1'0452)3 —0.206m
m,b,/29 1.86b 1.86x6
3).
2
Hb=1.7331/ Q > +0.50
9.18B
B—— 1.2m
0.50—— 0.5m
2
H, =1.7313I&22+0.50=1.23m
9.18%x1.20
3.6
3-3
3.6.1
a. 10m 20m
20m
b. 3m 6
C. 0.3m
d. 0.05
e. 0.3m

-37-
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3.6.2

o O T 9

1.2—2.0m

0.5—1.5m*/m*.h

10m
0.05 0.08
200mm
10min

40%—60%
3m

0.4m/s

35000

5020

3-4

NN

2000

-38 -
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3.6.3
8 4
3-4
1.
1).
Q = anx = 140;)00 =17500m’ /d = 729m’° / h
2).
F=%
q
F— m’
— m'/s
q— 0.75m*/m* h
F = 729 _g7om?
0.75
3).
:\/45 :\/‘“972 ~35.2m 35m
T T
4).
h,=0.8m
_05q(1+R) 05x075><1+158
h, ~ (v x/ (120 45/ =2.10m
1000 1000
h,=0.5m
2 2
. .g- .13 3
h, = X SV-q (1+R)td _4.5x120x0.75x(1+1.58)x2* _ o,
1000 1000
h5=0.3m

H=h.+h;+hs+h,+hs=0.8+2.10+0.5+1.32+0.3=5.02m

h - 2.10 =2.80h
qg 0.75

-39 -
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5).
11=0.065
h =D _0.065x35 _, \0m
2 2
ZBG-35
3-9 ZBG-35
m KW i
m/min mm
ZBG-35 35 2.2 1.25 700
6).
D H=H+h +0.7=502+1.10+0.7 = 6.82m
SENSE LYY
D H 210
2.
1).
Q=14x 10'm’/d=5833.3m’/h=1620.4L/s
Qg = RQ=1.58x1620.4 =2560.232L/s
3-10
Q DN % i
L/s mm m/s %0
(Q+Q:)/2 | 2090.4 1500 1.137 0.825
(Q+Q:)/8 | 522.6 800 1.04 1.60
Q:/8 320.12 500 1.63 7.00
Q/4 640.24 700 1.66 4.70
Q/2 810.2 1000 1.03 1.16
Q 1620.4 1400 1.052 0.781
200
400
2).

90°

- 40 -

HE
im

i




0.05m

1.6204

=202.6L/s=0.2026m’ /s

C=7z(D, + D, )= 7(34.6 +34.3)=216.35m

3).

Dy m 34.6m
D, m 34.3m
90° 0.20m
G- C 21635
0.20+0.05  0.26
432 90° 428  90°
Q, =% 02026, 359,107 mi /s
n 860
Q, =14H,”
0.4 4\ 04
H. - Q) _(2359x10 ~0. 031
1.4 1.4
2
H, =1.7313/ Q ~+0.20
9.18B
Qs m'/s Q.= Qi/2=0.1013L/s
B— 0.3m
0.20—— 0.20m

2
H, = 1.733,/% +0.20 = 0.592m 0.60m
. X V.

1).

_41 -
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D :\/4Qb :\/4><2.0904 _195m o
v, 7x0.7
Vi m/s > 0.6m/s 0.7
Qs m/s 2.0904m’/s
2).
D, =\/4Qb +D? =\/M+1.952 = 3.56m 3.6m
v, 7x0.3
V. m/s 0.2 0.4m/s 0.3
3).
D, = |22, p :\/M+3.562 = 4.63m 5.0m
N, 7x0.20
Vs m/s 0.2 0.4m/s 0.20
Qe m/s 0.8102m°/s
4).
3
Q, =myby2gH?
Me— 0.42
b— m b=m D,=3.14x 2=6.28m
H— m
Q— m'/s 2.0904m’/s
2 2 2
Ho| :( Q T :(ﬂT —~0.242m
myby/29 1.86b) | 1.86x6.28
3.7
3.7.1
a. TROJAN

UV4000PLUS

_42 -



b. 10 100s

3.7.2
1.
UV4000PLUS 3800 m3/d 2.5
2800w 3-5
_ 100000 s _¢s3g n=66
3800
n= 140000 x2.5=92.1 n=92
3800
8 N=11.5 12
2.
129cm 0.3m/s
_Q_ 140000 .0
vV  0.3x24x%x3600
B=2_2% _41om 4.3m
H 9
8.89cm 48 UV4000PLUS
uv uv 6
2.46m 2.50m
1.5m 1.5m
1.0m L
L=250x2+1.5+1.5+1.0=9.00m
1= 246%2 _164s 10 100s

-43 -



UV TSR UV T4
L1500 ., 2500 X/Hmm:: 2500 /’/:: 1500
7 i
5 7
g
3-5
3.8
3.8.1
a. 95 —98%
b.
C.
d.
3.8.2
a. 8-10
2-3 4-5
b.
c. 1/3—1/2
d. W 0.25m  HJ/H.< 0.64

W=0.3—2.5m H./H< 0.7

€.

_44 -



f.
3.8.3
1. 0=1.6204 m3/s CJ/T3008.5-92
b= 1.20m 5 10-3
35.0 2000L/s
3-6
2. D=1600mm v=1.00m/s
1=0.5%o
1.84
— W/ 0.05 R
3 s i******j**’* 2
 % \‘1\ —~
1.80 0.6 0.92
ﬁﬁ i=0.005 = 3-8 - =
3-6

- 45 -



4
4.1
4.1.1
a.
b. 10—16h
99.2%—99.6%
C. 20—30kg/m*- d
d. 4am
e.
f. 3
g. 0.1—0.15m 0.3-0.4m
| 14000

97%

8m

5350
4000
-
M
O

4—7m

| | 300

4000

| 700 ||

350



4.1.2
a. 16h
99.27%
C. 97 .5%
4.1.3
4=1818.75
m’/d=75.80 m’/h 2 Q:9O9.38m3/d:37.90
m’/h=10.58L/s 4-1
1.
v=qQT
: Q— m’/h
T— 16h
V=37.90x 16=606.40m"
2.
=Y
hZ
F—— m’
V—— m’
hz m 4.0
F:fgkiﬂl=151.6m2
4
3.
D=JiE=J4X”L6=39m 14m
T
D—— m
4.
i=0.05
he i =14 0.05=035m
2 2
hs
5.

NZS,-14

-47 -
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- h4:O .70m NZSl_14

4-1 NZS;-14

m KW

NZS,-14 14 0.75

H=h,+h;+hs+h,+hs=0.3+4_.0+0.35+0.70=5.35m

hl 0.3m
100 —
C% =q P
100 - p,
Q m’/h
P,
P,
Q = 75.8x 10079927 _ 55 131/
100-97.5
q, = Q_2213_ 11.06 m/h=3.072 L/s
2 2
_ P, — P,
Q, 400 o o,
Q m’/h
P,
P,
Q, = 75.8x 2277973 _ 53 670/
100-97.5
a, =%=¥ =26.84 m’/h = 7.45 L/s

0=0.00745m’/s
0.2m

- 48 -
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C=7x(D-2b)=7(14-2x0.2)=42.704m
b—— m
90° 0.16m
0.10m
G C 4704 _
0.16+0.10  0.26

0.00745
Qa = & =

=4.54%x107° m/s
n 164

1.4 1.4

QZ
H, = 1733 —2— +0.20
9.18b

0.00745
szgz

2
0.20——

2
H, = 1.7313/% +0.20=0.30m
. xXVU.

DN200 0.32m

0.4 _5\04
H. :(&j [MJ ~0.016m

Qs

=0.00373 m*/s

10.

11.

0.01058m°/s DN200mm
0.58m/s
L2.

0.003072m/s DN200mm
8h

- 49 -
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4.2
1280.12 L/s,
3 500ZQB-85
4-2 500ZQB-85
L/s m KW
mm
500ZQB-85 4° 651 4.18 55 500
37.90 m*/h,
8m 2 50Qw42-9-2.2
4-3 50Qw42-9-2.2
m’/h m KW %
mm
50Qw42-9-2.2 42 9 2.2 50 82.74
12mx 16m
4.3
4.3.1
4.3.2
a. 97 .5%
75.0%
4.3.3
1.
100 p,
= ,M=0Q(- 1000
Q=Q 0=, Q- p,)x
Qo m'/d 22.13m°/h

-50 -
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1).

2).

-51 -

p: %
p: %
M— kg/h
0=22.13x 297975 _ 5513 wish
100-75.0
M =2.213x(1-75.0%)x1000 = 553.25kg/h
DY2000 30-300kg/h
0.2%
276.6 kg/h
V=Q,T
: Qo m’/h
T— 12h
V=22.13% 12=265.56m’
_V
H
F—— m’
V— m’
H— m 5.0
F= 20956 _ 53 g
5
D :\/ﬁ :\/ﬂ —8.22m
T T
D— m
2.0KW( 5 8w/m’

8m

)

75%

WFJ-300

-
==

j=

im



Ma

V =
1000bn
V—o m’
M— kg/d
a—— 0.09%-0.2% 0.2%
b—— % 1%-2% 1%
n—— n=2

V:=55325x24x02

=1.33m’
1000x1x2
JY12 2 :
Lx Bx H=1760x 1200x 2580mm
0.37kw 1000L 4000L
J-7800/4 800L/h 0.4Mpa 0.75kw
25PN21 18m°/h 19m 4kw
1450r/min
DA1-50%x 9 18m°/h 85.5m 7 .5kw

r=2950r/min

-52-



5
SS< 20mg/L BODs< 20
mg/L BOD
< 10mg/1,SS< 10mg/1 ,COD< 50 mg/1, <1 /L,
2000
350QW1100-10-45
1100m*/h 10m 45kw
5.1
5.1.1
a.
C. SS 1000mg/1
5.1.2
a. 3 5
b. 1.2 1.5h
20 30min 0.5 1.0min
C. 1.5 2.0m
d. 0.8 1.1mm/s 0.7 0.9mm/s
5.1.3
1. 5-1

Q=(140.05)x1750m’/h=1837.5m’ /h=0.51042m’ /s
0.05

Q 18375

Q=7 =918.75m’ /h=0.25521m’/s

-53-
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3-5
Q' =5Q =5x0.25521m’/s=1.276m’ / s

c2000
9300
} 6300 }
TU di U — o
| i il s
=l iln —| @
i B
o D il H
8 o )| f— o
D / N
™M
p =
&
5-1
: A =0.04m’
tu, =0.04m/s 0.04 0.07m/s
/
w = 1270 gy gy
u  0.04

Dl=\/4(W17:A1)=\/4X(31'79z+0'04):6.38m

D, =6.30m, 5 =0.25m

D1 =D, +25, =6.30+2x0.25 = 6.80m

Q't, 1.276x60
W, 31.9

H, = =2.46m

t, -~ S, 30 60s

-54 -



D2

H, =2.55m, 4

T A, = A =0.04m’
Tw, =W, =31.9m’

/2
7D’

4(W2+A2+ J 4>{0.04+31.9+

X 6.802]

T T

:D, =93m, 10, =0.1Im

D> =D, +28' =9.3+2x0.1=9.5m

D,-D\ 93-638
2 3

H, = =135m H=1.2 2.0m

1u, =0.04nys,

/
DA _Q 12765 gy
u, 0.04

2A, 2x319
7x(D,+D'1) 7x(93+6.8)

tH, =

“H's =4/2H, =4/2x1.26 =1.78m

u, =0.00081My's

Q  0.25521

=318.75m’

T u, 0.0008

/ 2
02 318754 FX9

W= W, + =389.6m’

-55-

=1.26m

=9.32m

0.7 0.9mm/s
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D= /4_W _ /% —=223m=~22m
T JT

T 1.5h 1.2 1.5h

V' =3600QT =3600x0.25521x1.5 =1378m’
4%
V =(1+0.04V" =(1+0.04)x1378 = 1433.12m’
H, =0.3m
H, =1.80m 1.5 2.0m

aD? H _7z><222

\ x1.80 = 683.89m’
4

W, =

W, +W, =V —w, =1433.12 - 683.89 = 749.23m’

H, =3.6m
37.5°
D, =D -2H, -ctg37.5° = 22 - 2x 3.6 x Ctg37.5° = 12.62m
H,=1.2m

2 2 2 2
w, = s [DJ D.Dr (Dr)|_zx36 [sz +(22x12'62)+(12'62 —867.51m’
3 [\2) 727 T 2 3 2 2 2 2

_ Dy +4H; 12.62° +4x1.2°
8H, 8x1.2

=17.19m

R

W, :nHéz( —iJ = x1.27 x[l7.l9—£j:75.92m3
3 3

V=W, +W, +W, =683.80+867.51+75.92 =1692.66m"

-56 -



v/ = Y _1692:66 o seny
104 1.04
LV 162756

Q  3600x025521

H=H,+H,+H,+H,=03+1.80+3.6+1.2=6.90m

10%
u, =0.5m/s 0.5 1.0m/s

1.10Q, . .
B — Q =\/1 10x0.25521 _ oo
u, 0.5

u, =0.5m/s

_1.10Q  1.10x0.25521
u, 0.5

F =0.561m"

d=0.1m 0.007854m°

_4F 4x0.561
d?  7x0.1°

0

5 72

n

=7143 , 72

y - 1.10Q  1.10x0.25521 _
> 72x0.007854  72x0.007854

50m/s

0, =0.15m

D, =D’ +2B, +265, =6.8+2x0.75+2x0.15 = 8.60m

H,=H,+H,—H, -5, =1.80+3.60-2.55-0.15=2.70m

-57 -
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~ 12.62+8.60

D, H, +2.70 =13.31m
2

u, =0.15my's Q' =4Q

B = - 4x025521 _, 0, B, 0.18m

U, 7x13.31x0.15

5, =0.06m
V2B, + 68, =/2x0.18+0.06 = 0.315m

D, =D, —2(\2B, +4,)=1331-2x(2x0.18+0.06)=12.68m

H, =D, - D, =13.31-12.68 = 0.63m

D,-D; 12.68-12.62
2

H, = =0.03m

H,=H, —H, —H, =2.70-0.63—0.03 = 2.04m

H D, aH
v, =220} + DD, + D)+ i H, T

V, =%D12H1 +%(D2 - D/ZIXHI ~B,)=141.64m"

V, =V, =V, +V,)=11432m’

=141.64 : 342.72 : 1143.2=1 : 2.42 :

-58 -

(D + D;D; + Dy )+ w;, =342.72nm°

8.07
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1).

V . )

L= 2 _ 141.64 =9.25min
60Q  60x0.25521

2).

T, =9.25%x2.42 =22.39min

31.64min

3).

T, =9.25x8.07 = 74.65 min
9.

DN =500mmyv, =1.30 m/s,i =4.45%0
10.
1).
12
h=0.05m,
Z f — ﬁQi
H4/2gh
-
B -- 1.5
p—- 0.62
o X029 39me — 62370m?
0.62x4/2%x9.81x0.05
25cm 4.91cm?

-59.-
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2).
q = PR _15X025521 _( hu0ns
12 12
b;=0.25m v, =0.6m/s il =0.1m
0.0319
hy=—3 _ = 0.213m
v,-b  0.25x0.6
2 2
h, =% =i/1><0.03192 _o.118m
go’  V9.8x0.25
3 . 2
h = |2 +(h2—ij _2
h, 3) 3
2 2
= M+(0.213—£) —2,40.1=0.152m
0.213 3) 3
3).
o - ,ngi _15%025521 _ o
b,=0.5m il=0 v, =0.6m/s
h, =0.638m
h, = 0.246m
h =0.674m
h=0.66m
0.66 +0.07 + 0.05+0.30 = 1.08m
8).
8

2><8><(D_2D2 —b2j=2><8><(22_29'5—0.5]:92m

7(D-2b,)-8b, = 7 x(22-2x0.5)-8x0.25 = 63.94m

- 60 -



L =92+63.94 =155.94m

_L_15594 0 oa
n 1270
11.
1). 1%
V, =0.0IV' =0.01x1627.56 =16.28m’
V = Ve 1628 5.43n7’
3 3
_— 10V, (100 - p)p
0
(SI - Sz)Q|
Vv, --
p-- 98%
p-- 1.02kg/m’
S -- SS 20mg/1
S, -- SS 5mg/1
4 f—
_ 10* x16.28x (100 — 98)x1.02 1411.56min = 23.53h,  24h
(20-5)x0.25521
DN100 A=0.00785m” t, = 224.4s
2). 3h
Q =V? _ 162758 542.53m’ /h=150.7L/s
DN300mm v=1.46m/s
12.

Q =0.25521m*/s=918.75m’ / h
958717 958721  S774
S774  S774

-6l -
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13.
1).
D, - \/ﬂ _ \/M ~ 0.96m 1.0m
v, 7 x0.7
Vi m/s > 0.6m/s 0.7
0— m’/s 0.51042m°/s
2).
D, =\/ﬂ+ D? =\/M+0.962 =1.76m 1.8m
w, 7x0.3
V; m/s 0.2 0.4m/s 0.3
3).
D, - |42, p? =\/M+1.762 —~2.52m 2.5m
v, 7 x0.20
Vs m/s 0.2 0.4m/s 0.20
4).
3
Q=mb,2gH?
Mo— 0.42
b— m b=rt D,=3.14x 1=3.14m
H— m
0— m’/s 0.51042m°/s
2 2 2
H=| O :( Q T :(—0'51042 T —0.229m
m,by2g 1.86b 1.86x3.14
5.2V
5.2.1
a. 7—20m/h, 12.5—15.0m/h
b. , 0.95—1.35mm,
0.70—2.00mm, 1.2—1.6 1.8

C. 7—20m/h , 0.95—1.5 ,

-62 -



13 16L/(s-m?),
14 22L/(s-m?)

3.6 5.0L/s-m?)

5.2.2
a. v=10m/h
b t, =12min = 0.2h
C. t, =48h
d. ( )
5-1V
(L/S. m*) (min)
« ) 15 1.5
15
( ) 3 4.5
( ) 5 6
e. 2.0L/(s-m?)
7600 o
=
LTI
D 3500 =
Vv | =
()
U [
o () o
N == o =
/¢¢A ] =
()
U H N
5-2

-63 -




5.2.3
1 5-2
N=2 V
Q =%= 1837.5 =918.75m’ /h=255.21L/s
2.
1).
Toa- 2 g 2X02_p3 4,
t2
2
f _&_w_gzzmﬁ
v 10x23.9 ’
V 2
2 13m 3.5m 45.5m°,
v 94m’
vV = Nv :2XIO:20m/h( )
N-1 2-
2).
% 0.10m
1.20m 0.9 1.2mm Keo<1.4
H,=0.10+1.20 =1.30m
H, =0.13m
55 /m’
H, =0.90m
H, =1.50m
H, =0.30m

H=H,+H,+H,+H, +H, =0.90+0.13+1.30+1.50 + 0.49 = 4.32m

3).
’ 0.9 1.2 ” K80<1-4

- 64 -



_ 2
aH =180 LZM)7 Lz
med,
AH_ ] ;
y— ,cm’/s; 20 0.0101 cm’/s
09— , 981cm/s’;
m,— ; 0.50;
d,— , » d,=0.141cm
l,— , 1,=140 cm
v— , /s,v=10m/h=0.28 /s;
p— , 0.75 0.8, 0.75
_ 2
AH = 180x 20101 @ 0'530) ()% 140%0.28 =12.99cm
981 0.5 0.75%0.141
8 10m/h 30 40 ,
, 40 :
h=0.22m, s
AH =0.40+0.22=0.62m
2.40mx 2._.40m, 0.30m.

H =H,+H,+H,;+030=090+0.13+1.30+0.30=2.63m

Q =918.75m’ /h=25521L/s

2 2 2
h -9 J_(QYF _( 0.25521 js _0.170m
m,by2g 1.86b 1.86x 2.40 '

0.17+0.62=0.79m
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1).
, , 0.05m
0.08 , , ,
, , 2/3 ,1/3
0.70 0.90m,
0.10 0.15m
1/80
49 64
10 15m/s
10m/s 1.5m/s
1-1.5m/s
2). Q
., 5.0L/s-m?)
Q =q f=50%x94=470L/s=1692m’/h
3.0L/(s-m?)
Q =q f=30x94=282L/s=1015.2m’/h
v . . 2.0L/(s-m?)
Q =9 f=20x94=188L/s=676.8m"/h
3).
v =1.50m/s .
A _Q 410 =0.31m’
v 1000 x1.50
DN600 , v=1.65m/s

1.00-1.50m/s , Vv =1.00m/s
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A =Q __ 40 =0.47m’
Vv 1000x1.00
20 .40
A

A =—:w:0.011625m2
40 40

0.10mx 0.10m

4).

15.0L/(s- m?)
Q =q f=15.0%x94=1410L/s=5076m’/h

5).
) v  =10.0m/s ,
v 1000x10.0
DN400 , 11.2m/s
40
10m/s ,
A _Q 14 =0.141m’
v 1000x10.0
A
A =—=M=o.oo3525m2
40 40
4A
d = _ 420003525 6 h67m, 0.07m
T T
Q 1410

=——=—-=3525L/s
Q 40 40

-67 -
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6).
Q =g f=30x94=282L/s=10152m"/h
Q =q f=150x94=1410L/s=5076m’/h
A _Q +Q I +0.282 =0.47m’
\% \% 1000x1.5
4.
1).
0.40m, 1.70m, 0.40m, 1.20m,
0.68m°, 0.48m*, 20 20
0.65m, 40 40 ,
Q___ 470 =0.012m* < 0.48m*( )
40  1000x 40
2).
0.5m,
H =H,+H,+H,+050-1.70=0.90+0.13+1.30-0.50-1.70 =1.13m
H,,H,,H, ,1.70m
H =H,+H,+H,+0.50-1.20=0.90+0.13+1.30-0.50-1.20 =1.63m

H,,H,,H,, ,1.20m
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i L63-1.13 ) e
13
470+188 3
= + =—————=0.658m"/s
Q Q Q 1000
b=0.40m v=1.5m/s
il =0.0385%x13 =0.50m

Q 0.658 =1.10m<1.70m

>~ Vb 1.50x0.50
00? 2
= Q2 . 1><o.6582 —0.65m
gb>  V9.8x0.40
3 . 2
h = 2th+(h2—ij _2
h, 3) 3

N 2
_ w{m_ 05_0) 240,50 = 0.83m< 1.20m
1.10 3 3

3).
Vv DN80OmM
v=1.02m/s i1=1.51%o
Q =918.75m’ /h=255.21L/s
v, =0.8m/s b=0.60m
- Q _ 255.21 _0.53m
Vv,-b  1000x0.8x0.60
1.50m,
0.30m
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: Q=0.8A\2gh ,

h=0.10m,
Q 0.25521

0.8,2gh  0.8x+/2x9.81x0.10

A =0.228m’

01881::0168nﬁ

A=A 2028«
Q

0.40m 0.40m

A =A —A =0.228-0.168=0.060m’

0.25m 0.25m

0.5m

2 2

5 _
[ Q :( 0.25521 js — 0.090m
1.86b 1000x1.86x 5

b =0.50m 1.31m
=7.60m

Q =25521L/s

=0.50m

b
2 2
=1.73 Q_2 173532 g somerzim( )
9.18b 9.81x0.50
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d, =0.03m, 0.20m.

_ 3.14x0.03

A, x 65 = 0.046m’

0.15m, V

0.15m Q,, =0.8A{2gh, Q,,

4).

1).
2).

3).

QV1: =7:94L/S

2 2
h = .L:( o4 Jx L _0333m
08A, ) 2g L1000x0.8x0.046)  2x9.81

2

il 2
: >
_|.@ :[ 470 ]3 — 0.046m
1.86b 1000 % 1.86 % 13.0

b -—- b =13.0m
45° , Im 0.05m

1-0.15-h  =1-0.15-0.05=0.80m

1-0.15-h, =1-0.15-0.33=0.47m

4 _50m 0.90m
DN800 ,v=1.02m/s, 1=1.51%0

Bx H=4_.50mx 0.90m

H, =5.0m
Ah,
Ah =2.0m
Ah,

-71 -
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Ah
Ah
Q =0.8Ay2gh
LA .
A =047M°
Ah =[Q Jz-i{ 470 sz L _0.08m
0.8A 2g \1000x0.8x0.47) 2x9.81
Ah =0.22m
Ah
) n=15/3=5
1.25
Q 470

V= = =04m/s
1.25%f 1000x1.25% x 94

Ah =9810n(0.01-0.01v+0.12v* )= 0.13m

Ah,
Ah, =Ah  +Ah  +Ah +Ah =0+0.08+0.22+0.13=0.43m

4). Ah,
, r,=2.65t/m, r,=1t/m’,
m, = 0.50 H, =1.30m,

h, :(:—‘—lj(l—mo)m =(?-1jx(1—0.50)x1.30=1.27m
0

5). Ah,  1.50m.

H =H,+Ah +Ah, +Ah, +Ah, =5.0+2.0+0.43+1.27+1.50=10.2m

4 250514
1470 / 11m 30KW 78.4%
250mm

1). AP
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Q =14Im'/s
5 /m’ n 55x 94 5170
0.273L/s
AP =3kPa
2). AP
3). P 5kPa
4). P
P =98I(H —Ah +Ah )=9.81x(10.2—-2-0.08)=79.66kPa
5). P =4.90kPa:
P =P +P +P +P
P — , 5Kpa
P — , KPa. P =Ap +Ap =3kPa
P — ,79.66 KPa
P — .4.9KPa
P =5+3+79.66+4.9=92.6kPa
:Q =141m’/s=84.6m’ /min
RMF-250 44.4m’ / min
98.0kPa 110KW 132KW
5.3
5.3.1
T=2.4h

V =QT =1837.5x2.4 = 4410m’

H=3.0 :
F=t 20 y0m
H 3.0

-73 -



LxB=55mx27m 1.0m
5.3.2
1.
1).
2).
3).
4).
2.
1).
0.5—1.0mg/L
30min
2).
g=0.001aQ
a— 1.0mg/L
Q— m3/h
g=0.001x1.0x1837.5=1.8375kg/h=44.1kg/d
3).
ZJ- 1 1
€y
)
) 5 /
0.5—9g/h
>2 .5MPa
x x  (mm) 330x 370x 1500mm
483
4).

15

- 74 -
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W = qt = 44.1x15 = 661.5kg

YL-100

100kg
350% 1335mm
QF-102G
LX
1PR21-4

X

6

3

=12000mmx 10000mm

-75 -

-
=

j=

FE



6.1

6.1.1

6.1.2

6.2

5—10m

-76 -

373m

x 310m



)
6.2.1
a.
b.
C.
6.2.2
a.
b
6.2.3
72.400m 70.000m
h=iL i h=&7/2g
1.
1). 64.200m
2.400m
70.000m
2). 71.900m

0.300m
3). 72.200m
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4).
mm m/s %o m
1000 1.03 1.16 50 0.058
1400 1.052 0.781 160 0.125
DN1000 DN1400
3.25 0.217m
0.058+0.125+0.217=0.40m
72.600m
5). 0.031m
0.199m
0.200m
0.200m
0.630m
73.230m
6).
mm m/s %o m m
800 1 04 1 60 28 0 045
DN800 DN80O0
4.0 0.215m
0.045+0.215=0.26m
0.242m 0.220m
73.952m
7).
mm m/s %o m m
1000 1.28 1.76 180 0.317
1500 1.137 0.825 45 0.037
DN1000 DN1500
3.75 0.333m

0.317+0.037+0.333=0.687m

-
=

j=

im



0.206m 0.400m
75.245m
8). 0.100m
75.345m
9).
mm m/s %o m m
1200 1.432 1.732 20 0.035
1000 1.03 1.16 90 0.104
DN1000 DN1200
2.75 0.311m
0.035+0.104+0.311=0.450m
0.310m 0.300m
76.405m
10). 0.140m
76.545m
11). 0.276m 0.242m
77.245m
12). 67.100m
68.300m
0.115m
68.185m
68.185m
72.600m
13).
11.215m
77.245m-66.185m=11.06m 11.215m
2.
1). : 72.200m, 21.000m

2).V

-79 -



mm m/s %o m
800 1 02 1 51 20 0 040
V 0.170m 0.40m
V ( ) 72.810m
V 72.810m+1.500m=74_.310m
V 0.100m
V 0.090m;
v 74.310m+0.100+0.090m=74.500m
3). V
mm m/s %o m
800 1 02 1 51 65 0 098
74 .598m
4). : 0.120m
0.400m
75.118m
5).
mm m/s %o m
500 1 30 4 45 25 0 116
75.234m
0.229m
75.663m
6). 72.200m
3.263m
3.
1). 76.400m
2).
h, = 6.82(%)(Lj
D" C,
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-
=

j=

im



D— 200mm=0.20m
V— 0.88m/s
Ci— 81
0.188m
76.212m
3).
mm m/s %o m m
500 1.63 7.00 70 0.514
700 1.66 4.70 60 0.282
DN500 DN700
2.70 0.379m

0.514+0.282+0.379=1.175m

73.230m-1.175m=72.055m

4). 76.400m-72.055m=4.345m

-8l -



7.1

380

10

220

7.2

7.2.1

DDZ-

7.2.2

PH

PH

DO

PH

DO

PH
PH
PH
PH

T O %= O O

7.3

-82-



8.1

70

8.2

50

15

100000 m*/d

42

70%
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5—10

60

15

-
=

j=

im



9
9.1
9.1.1
100000 m*/d
1.
659 / m/d
659% 100000=6590
2.
340 / m/d
340% 100000=3400
3.
137 / m/d
137x 100000=1370
4.
114 / m/d
114x 100000=1140
9.1.2
1250 / m/d
1250% 100000=12500
9.2
9.2.1
a.
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1300mm
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